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(1) T IS 100 Far wv7 smRd. Ieant wwait I fefzvam geam woargE a1 w54
W 3Ted ok A1t A @eh e s, aim o F1E G Tededd & UIYRsh HHdaFiHgd i

qaed ATl .
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gt .

(3) T BTUTIEA TAYEAHT AT qHedT IThat fafdre wrft Ieraferatial gaawmm 7 famwa ayg s

(4) () = TYFERdIe Tes YeATen 4 gt I gafaett ST AT 1, 2, 3 307 4 318 T fee aEa.
1 9R ITTH Hald A7 ITET HHIH UG GEAYAT GEeA] ITTHhal q9g HUEl. 39

YHN ITACAHER IAGHATH TG FAET dl Haad TeGHATRHT STT(hd He- Gufde Jea =

TSl AT, TTHNAT B Tl YIS AieTd arodra, 9f=rer a1 vs=r U= 9o =4,

(%) R v frvamdt sl st et e e weer e = favaen v e g
TR S WA IS BUUATT AT AR, @A TS fhaT wuEde uyATHey

TaTEt W eyl ATg vga.

(5) WA WAl WHW U TG, IRAd T G I ieid. HIEHS 99 BN A A cadr 93ee e
fieRn I Y HigaEa. HEH T S SR AR 9V TETET W9 HE Sreedrd wrEt 9% 9
FISAAT TIATHS TV TS 3
(6) ST UHEl TG FHelel I WISAT AW ATE. TYT HAA IW WA TGN I oA 9 qUES A0
&Y. THUE! S I TS HeATd d IR JHE O el q 1 FohTea I v T hel A,
(7) eqa W& ST YAThd FAH TR ITAhdie A I v e s qd
AR TS SRy e i fien IR I wata dw e st a5 wuE.
ST AT SIS HISfeeted Fedeh Fehrea1 ITEIE 25% Fha 1/4 o gw/medt Fvama dedter.”

B aSlg

T wyatidaTst s fafga dereft A wood @ weAgfereT srarTeR wrem st wferme sieaTTEn
WWM%W.QhMWWW/m,%vaWTWW
mmmmmmﬁmw,mmmawwmﬁm
RIS WHAT A Shorean “afiermed grom=an s sfvEy sxvararaaan sfafram-82” arder agdigan
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gHS SR T=aT geataat @ wher Sgas a9

T o HTTETean AL HWETE oA et T Gt St wHrer vas awiean swraraTe sfor/ e T
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A (Yahoo) Fmfd & @ired.
(1) Zedie fpet @ S A (2) fode %% a Ta Had
(3) o g @ A AT (4) feeeg *vE a 9% 97w
Yahoo was developed by
(1) David Filo and Jerry Yang (2) Vint Cerf and Robert Kahn
(3) Bill Gates and Ken Thompson (4) Steve Case and Jeff Bezos
fesfiem 3 geetie wedl S H9 oI FHOMH FEC SRl W 99 sdiewe
Wt 22 YNHE 3ATE. .
(1) U=.UH.TH. (2) TUH.UE.UM. (3) TH.TE.Hl. (4) IF.UH.TE,

is an application developed by Digital India Initiative which keeps record
of soil health distributed to farmers. It is in 22 languages.
(1) HSS (2)- SHS (3) SHC (4) ISH
HIS 493 gR Fafoid B Teg_gdty festeet ey (wr.ww.ELSh.) |fide @ B
T HSEAT. |
1) 3aa (2) 3Fm () #fmm (4) 3=

C-DAC Mumbai is looking after a National Service Delivery Gateway (NSDG)
services known as . —_—

(1) eTaal (2) eCom (3) eMitra (4) eSangam
L AL CEH], S 9 LS. G o wg frmEn e me g daw
(1) tw3.dy. (2) FuA.3.4. @) JmEwIR.  (4) 3wy

{\ joint project of IISC Bangalore and IIT Mumbai for generating skilled manpower
In nano electronic area is ;

(1) NEPU (2) UNEP (3) INUP (4) ENUP
MOOC vt
(1) o sttema st S5 (2) TH.IH.A. A AT FEE
(3) wier S sfiemd (4) A ATATH e HiEE
MOOC stands for
(1) Media Online Open Courses ~ (2) MIT Open Online Courses
(3) Massive Open Online Courses (4) Major Online Open Courses
P PTAIS AT | SPACE FOR ROUGH WORK | o
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6. 9019 w1 asten Wik IhEH TR W Afigdw anfor fomve Tl wf w7 “amr
7w g’ A SAIEd GEHEE et Sren 3. e A it ferfaere
“sig 2777 &M A T A1 FE
(1) s = ' 2) s
(3) HREEH IR (4) ?n%aa@t

Sahitya Akademi Award of 2019 was awarded to senior writer and film director Sai

Paranjape for her ‘Ani Mag Ek Diwas’ translation. The book is a translation of ‘And
Then One Day’ in English written by senior actor
(1) Amitabh Bachchan

(2) Anupam Kher
(3) Naseeruddin Shah

(4) Javed Akhtar

7. Wielledsh] S WA A R, 2022 § GG HUAE 3 ?
. e = 9. femam
| %, WRA FHRWIE s i fim
__ : At I

1) S A, 9 FH

. @ wWE,F T '
L (3) BH A, S, 3 (4) Wad A, €, T

b Which of the following sportsmen were honoured with the Arjuna Award, 2022 ? .
‘ | a. Neeraj Chopra b. Hima Das ‘

*i _ c. Bharat Kumar Rathod d. Manpreet Singh 1

' Answer Options : : -

I({ - (1) Onlya,b,c ‘ (2) Onlyb,ec,d i indi

‘!‘ (3) Onlya,c,d

(4) Onlya,b,d
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9. ‘;ﬁﬁlﬁ2021’wt§1€ﬁﬂaﬁmmmmm@?
(1) @ (3) ¥ (4) TR
Which of the following city received the “Tree City 2021’ award ?
" (1) Nashik (2) Pune (3) Mumbai (4) Nagpur
10, A e/ el
3. w@im‘sm’mmaaﬁww%m srepTE TR 2020 freTE.
g,  oIET HesH e mm’m@mwmmwzommm
g IW
(1) A | (2) ad &
(3) ;AT QA (4) ol THE AT
Select the correct statements.
a. Nanda Khare’s novel ‘ Udya received Sahitya Akademi Award 2020.
b. Aaba Mahajan’s short stories collection ‘Aabachi Goshta’ recelved the Bal
Sahitya Puraskar-2021.
Answer Options :
(1) Onlya (2) Onlyb
: (3) Bothaandb (4) None of the above
AR, TS Hewide ?ﬁﬁ# faam ﬁuﬁ ?

11-

(1) m&ﬁm%ﬂmwmﬁmmmaﬁ g FreaaTEn dl faa
g TR,

(2) Tafisie T Heteser IR AR SEFE A e T S 3.
(3) 2022 <A1 A¥A AE wyekn A1 fasi AR,

(4) IR TG 90 IhgHEh ot He 2.

Which is an incorrect statement about R. Praggnandhaa ?

(1) He is the third Indian after Viswanathan Anand and P. Harikrishna to beat
the Norwegian Chess master.

(2) . He defeated world champion Magnus Carlsen twice within four months.

. He is the winner of the Chessable Masters 2022.

4) g He is associated with Westbridge Anand Chess Academy.

j, ST / SPACE FOR ROUGH WORK il
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9. YR $HR o i, Scfesm

®. S iy i, P

S. aﬁ\miﬁﬂﬁ 1v. ‘Iifﬁéﬂ

Tt I

(1) iv 1 11 111
(2) v 1§ g
(3) %1 1. iv - 1

(4) i i i iv

Match the pairs (Dhyan Chand Award 2022)

A

(Sportsperson)

Satyadev Prasad i
Bharat Kumar Chhetri il.

& o T

Answer Options :

a b ¢ d
) v i i i
@ iv i i
(3) i i iv il

(4) i i il iv

~ Bobby Aloysius iii.
Dadu Dattatreya Chougule iv.

B
(Discipline)
Hockey
Athletics
Wrestling
Archery

0% TS M | SPACE FOR ROUGH WORK
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13. e e ATaTaR aaiftreh FeEer fastauEren foshw e S SR, e
e e fd e fasidug Aigiad el Sed ? el 2022 i

(1 19 (2) 20
(3) - 21 (4) 22

Rafael Nadal is the Tennis player with the most Grand Slam Tournament Titles
won. As of January, 9022, how many Grand Slam victories has he made ?

1) 19 (2) 20
3 21 4) 22
s
14. %ﬁqﬁﬁﬁ_@mﬁaﬁmé%ﬂmﬁ@ﬁ% 9004 TRl SIS SUAISECTeAl HEwT=
T <. @ TR T 20T A
(1) T S TR 2) = fempertl TR
(3) IAEWE TEHI (4) I 915 GERT

Dr. Vasant Gowarikar was honoured with in 2004 by ‘The Astronomical
Society of India’ for his important work on the fuel of the satellite.

(1) Young Astronomer Award (2) New Discovery Award
 (3) Aryabhatta Award (4) Shaw Prize Award

15, Wﬁﬁmmmﬁ,mﬁmﬁu@,mm'mm
ifrare & 3T i1 foresred.

zlﬁlz:ﬁeﬁ;t. g higher education in Mathematics but making various discoveries
ics with great efforts, received the title ‘Ganitananda’.

(1) Mahendra Suri

(2) Gangesha Upadhyaya
(3) Shankara Variyar

(4) Dattatreya Ramchandra Kaprekar

eed HITAIS! S | SPACE FOR ROUGH WORK P.T:C.
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Identify the correct statements among the following :

a.

Applicant has to give the request for information in writing.
b.

Public Information Officer shall give the information concerning life and liberty
of a person within 30 days.

Answer Options :
(1) Only ais true
(2) Onlybis true
(8) Both a and b are true
(4) Both a and b are false

17.

§ ¥

Wﬁ?ﬁﬁiﬁwm, Zoosmmﬁmwmmm%maﬁw.m

(1) =em 6(3)

(2) hetm 6(1)
(3) e 2(e)
(4) HeH 5(2)

Under which of the following sections of the Right to Information Act, 2005, Jdoes ;:::
Public Information Officer have to transfer the application concerning another pu
authority ?

(1) Section 6(3)

(2) Section 6(1)

(8) Section 2(e)

- (4) Section 5(2)

’;{ummmm | SPACE FOR ROUGH WORK
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18. %mmﬁmmmmmmﬁ;;
ﬁamwmmwmmmm
5. W, U, A e qqwEh
4. ﬁammmwﬁﬁwﬁmmﬁ
3 AT S st o T, e T
ot I
(1) e 3 M0 & s
(2) Wed &
(3) a3 S IR
(4) et wd I A

‘Right to Information’ means the right to information accessible under this Act which
is held by or under the control of any public authority and includes the right to

a. Inspection of work, documents, records

b. Taking extracts or certified copies of documents except notes
c. Taking samples of material irrespective of their certification
Answer Options :

(1) Only a and b are correct

(2) Only cis correct

(3) Onlyais correct

(4) All the above are correct

19. mmﬁmmmmﬁmm?
(1) 16 =¥ 9 3ferk '
(2) 18 =¥ 7 i
(3) 21 =¥ 9 s

(4) ST R ey AR
What is the age criteria to file an RTI application ?
(1) 16 years and above
2) 18 years' and above
(3) 21 years and above
_ @ Noage criteria
e HTTHIS! ST | SPACE FOR ROUGH WORK | it

A»l.‘r‘

ﬂ i|

& ]
L
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20.  wfeden sifer sifufim, 2005 3 gE s sfufEmTen S FEET FEHld 8 2

(1) = 13
(2) om 18
(3) wHem 24
(4) Hem 30

The Second Schedule of the RTI Act, 2005 is related with which Section of the Act ?
(1) Section 13

(2) Section 18
(3) Section 24
~ (4) Section 30

21, RN ArhdaT e SHUfEH, 2015 T SR S o€ ;

T LG
A. 23 i. Tew v AT sfvew
9. 24 i, @e foran geheh miedt seard) o= ura ek fwgeh Hward
%. 25 iii, TR IfteiEE Oy
s 26 iv. WA heredl Helld TTE
gt I
A T ® T
(1) ‘i mi - iy il
(2 1 i i iv
SR i1 i
@i i v i

Match the following regarding the Maharashtra Right to Public Services Act, 2015 :

Section Provision
a. 23 i. Power of Government to issue directions
b. 24 ii. Action against eligible person for giving false or frivolous
information
c. 25 iii. Bar of Jurisdiction of court
d. 26 iv. Protection for action taken in good faith
Answer Options :
a. b c @&d
(1) 1 i iv i

@ i i i iv
(@) fii v i i
) i 1 vl

O eeeer 1 ePAAE END DNILICH WNORK
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92, WWWW,ZOI5%WWWWW®&3W?
(1) FE 7 — (2) @cH 8 (3) HaH 9 (4) Hem 10 i
Which section of the Maharashtra Right to Public Services Act, 2015 deals with
appointment of appellate authority ?
(1) Section 7 (2) Section 8 (3) Section 9 (4) Section 10

23. HeETTog F'I.TEF@aT &I AT fEAT= RIVTIT heHIgR, H&d SATHEI qgrad! 9 =7 3|l Sgean
afred ?
(1) °heH 12 (2) HdH 13 (3) oH 14 (4) e 15
Under the Maharashtra Right to Public Services Act, by which section is the term of.
office and conditions of service of the Chief Commissioner provided ?
(1) Section 12 (2) Section 13 (3) Section 14 (4) Section 15

24. Wmmmwwwwmmmw
0T 3Tl I8 2 .
(1) dhaH 15 (2) ©heH 19
(3) W 22 (4) TR FHTEE TRl
Provisions to remove the Chief Commissioner under Maharashtra Right to Public
Services Act is made under which of the following section ?
(1) Section 15 (2) Section 19
(3) Section 22 (4) None of the above

95, TENIS SAlhHdl B I, 2015 zfeed @refter faum™ fa=ma = -

s yom orfiefa Afusl /U FW

7] - AESHS T HEaral haH 8
T e § TR AT e Avfiien HH gsten Ageen sl Fgd Hid

S TefERE st gutuen 3= gorE .
B IT: aes ST oE e AU TRUE $W HgEd 9t T ueHesfd

Hftrerr=area gtven w4t et tfushr=me e Hid.

gt I
(1) ﬁmlaﬁma@;ngﬁ% (2) faum II ster 3mg; I g
(3) arEl faum stisr AR (4) Qe faum gh=h emea

Consider the fi i 1% : )
Sorvion: AthZO(;léo;‘VIHg statements in view of the Maharashtra Right to Public

S : A . .
- otatementI:  The Public Authority shall appoint an officer not below the rank of

grroyp B or its equivalent rank who is superior in rank to the

eSI.gnated Officer to act as First Appellate Authority under

PO section 8 9f the Act._

_ . The Public Authority shall appoint an officer who is superior but
below the rank of Designated Officer to act as First Monitoring

| Officer.
Answer Options :
(1) st - e
. i;e::lent Iis correct; II is incorrect (2) Statement II is correct; I is incorrect
" JEsenels avo corroct (4) Both the statements are incorrect

P SHIATS! ST / SPACE FOR ROUGH WORK
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AR ot fowrsp, smmecift st g HhR
26. TR UH feqErAl-geTEEG HH : —
TG AR
3 et B 9. THIE HEsnm §2
%. fomy wredt fagegen S, Taverre e defo
gt I
(1) 3 3nfor § sirey (2) 9 anfor & s
(3) = I g sl (4) ¥ anfor € sy
A grand procession and felicitation of Tilak and Agarkar was arranged in Mumbai
after their release from the lmprisonment of 101 days by
a. Narayan Meghaji Lokhande b.  Damodar Savalaram Yande
¢.  Vishnu Shastri Chiplunkar d.  Vishwanath Narayan Mandlik
Answer Options :
(1) aand b correct ~ (2) bande correct
(3) candd correct (4) aandd correct
217.

Wﬁﬂ:ﬁm T Wrefter :

A GG GRiT FerE

9. RS ey
F. g gy S.  HIE IS Fiy
ATt A gty Erefie S e,
(1) 31 anfor & sy
(2) = anifor T sy
@) 3, 3 anfer % e
4) ot od
i
azkmanya Tilak criticised the moderate leaders and Congregg convention
a. Congre_ss of Flatterers b.  Slaves of Government
c. Entertaimnent of Holidays d.  Work in Spare time
Select the corre

Ct option from the above pair.
aand ¢ correct

b anqd 4 Correct
8, band ¢ Correct
All of the abO'Ve

(1)
(2)
(3)
(4)
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13 R15

Sieft < TR gereot i g g 9

iferehT=a SST=T el i, . e

Free fég el T iii, TRV FHE A

T SIS SRS Y g dv. S

ﬂ'd‘i’ﬂﬁ:

(1)
(2)
(3)
(4)

H

il

ii
i

il

o

v
\

1

v

iV

v

111

il
il
ii

il

. Match the following :

a.

Answer Options :

(1)
(2)
(3)
(4)

Leadership of the Queen of i.  Subhash Chandra Bose
Jhansi’s Regiment '

Leader of Naval Mutiny ii.  Captain Lakshmi

Government

Swaminathan

.. Establishment of Azad Hind ii. Aruna Asaf Ali

Underground leadership in iv. B.C. Dutt
Quit India Movement

a
ii
i

ii

b
iv
i

v

iv

c
i
iv
1ii

i

d
il
iii
ii

_ mmm | SPACE FOR ROUGH WORK
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29, @A Ig ST A6

—

3. = fooaw S i. o faga

¥, 9 gfe i, TR | YegehiYl
%. fam $ iii, WEAdd HINTAL

8. 7S TH iv. Yﬂ@ﬂmw

ﬂ'ﬂ‘fﬁaﬁ:

A T ® T

@1 v i - i i

(2) Jmaresd o4 iv
@) i i iv il
(4) i iv il i
Match the following pairs correctly :
a. Dr. Willian Jones i.  Theory of Wildfire
b. Warren Hastings ii. Dictionary of Marathi language
c. William Carey iii. Translation of Bhagwat Geeta
d. Grand Duff iv. Translation of Shakuntala
Answer Options:

a b c d
el 11 i

@GN i v
(3)- o s ki iv il
(4) 1 v 1l 1
30. f2. 18 S, 1823 Tsft Shotean Hllsidl =1 3iien Wieflel s¥erdl=a1 Hell e :
31, TS U Higd 14 q. SIS AR
%, fasuan sEE T Y Y WS
PIoRpIPAECE
(1) 3 T | (2) & 37for & s
(3) @, & T S (4) =1 7fo g s
The petition for ‘Satibandi’ dated 18t June, 1823 was signed by the followir
persons : '

Balshastri Jambhekar

a. Raja Ram Mohan Roy b.
d. Jagannath Shankar Sheth

¢. Vishnubuva Brahmachari
Select the correct option.

? (1) acorrect

- (3 a,bandc correct

(2) b and ¢ correct
(4) a and d correct

A ST / SPACE FOR ROUGH WORK
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g1, FOU TSN greu] fehT=Iet 47 fires. RS
(1) I (2) € (3) e (4) ot
river meets Krishna river on its left bank.
(1) Koyna (2) Sina (3) Yerla i
-
gg, el AT
I 11
3. e uia i i, dfadie HEETR
5. wfEmE Tat ii. 3fedis HEETR
. Hoo TS iii. feg wEETH
gt I ;
> I | <
@) 4 g i
(2) i i ii
) (A i iil
(4) 1 i il
Match the pair :
I I1
a. Saint Paul Ridge i.  Pacific Ocean
b. Mariana Trenche ‘. ii. Atlantic Ocean
c. Challenger Rise iii. Indian Ocean
Answer Options :
a b c
(i) 31 i il
2y ‘i - 1 ii
(8) i i iil
(4) i i i
33.
ity Tafifdtamd e Al

ot I
(1) wad M o SO AR, (2) e faum & ST 7.
(3) faum 31 nfor & e 3R, (4) faum =1, 9, & SO 374,
Observe the following statements :

alaria.

Cincona Plant is used to produce medicine for M
General of Forests for Forest

a.
b. In 1855, Lord Dalhousie appointed Inspector
conservation.
c. = Cattle grazing is permitted in protected forests of India.
Answer Options :
(1) Only statement a is correct. (2) Only statement b is correct.
- (38) ‘Statements aandb are correct. (4) Statements a, b, ¢ are correct.
P.T.O.

5 Ef"’ -
g;m; HTETATS ST / SPACE FOR ROUGH WORK
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34, argEe faw Gl FoaEd aearE 9 s ed fedt feanfer uft ‘
qrEt ? ool LUl
(1) " 10 f (2) 15 fe. (3) 20 fF.H. @) 925 F..
Hov:; ‘;much minimum wind speed per hour is required to generate electricity from
wina !
\ (1) 10km (2) 15 km 3) 20 km e
35. Wrdld dlsa1 A6 :
w1 = 11
(sr3er) (3fr=d)
3. U i, HAfaq e
9. W i, TS, ST, Y ST HaEwdIe S
. Hoedl iii. AT WS
3. W iv. HTEHE 399 Feiel e Yo feaam
gt I :
A % =
1y v i i il
(2) i . i iv
(3) G i i iv
)y i -i iv i
Match the following :
Column I Column II
~ (Region) (Characteristics)
a. Bhangar i. New alluvium
b. Khadar ii. Barren, saline, dryer areas in Uttar Pradesh
c. Kallar iii. Old alluvium
d. Teréi iv. Streams disappeared in bhabar reappear
_Answer Options :
a b ¢ d
(D e i
(2) i IR R g
(3) iii i il v
"

(4) i 1 iv

————rad) T | SPACE FOR ROUGH WORK
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36. WW [ECIERS IR
& wearens g2 ot afte afeeauaiial ywmEs Imn 56 s=eaid e e S
3d.
et i /4 J= SR /A ?
(1) ed H (2) HFdd
3 | (4) ool THE AT
Consider the following statements about the State Cabinet :
a It is the highest decision-making authority in the Politic-administrative system
of a State. s ]y
b. It exercises control over higher appointments like Constitutional authorities
and Senior secretary level administrators.
Which of the above statements is/are correct ?
(1) Onlya (2) Onlyb
(3) Both ' (4) None of the above
37. @reiie fauH fa=m = .

T HTRITS ST / SPACE FOR ROUGH WORK

q. TSI ARl AR §eE 91 UsgHeAd FfTEa sherelt ATEL
F. T AREET RN AT HEhS I 9y 3.

Tl Hod UL Sl s ?

(1) Fanura
(2) & 3T ®
(3) = emfur =+
(4) &, 9 3nfr =

Consider the following statements :

a. The Chairman of State Public Service Commission is appointed by the
Governor. '

b.  The Constitution does not specify the strength of the State Public Service
Commission.

c.

The tenure of the Chairman of State Public Service Commission is five ye
Which of the statements given above are correct ? .

ars.

(1) aandb
(2) bandec
(3) aandec
(4) a,bandec

RO,

Scanned with CamScanner
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38. w@refte faum fommg = -
T mﬁ%ﬂnmwmﬁésﬁawwﬁwﬁﬁﬁ
. TAT I A0 W TedTArhed (fTEd el .
T Wwﬁﬁmmmﬁw
SATHT i e siiey s 2
(1) 3 anfor 5 @) ¥ % @) % afrs (4 AU

Consider the following statements :
a.  The ministers are appointed by the Governor.

b. A nominated member of the State Legislature can not be appomted as a
minister.

C.  The salaries and allowances of ministers are determined by the Governor.
d.  The ministers can take part in the proceedings of the State Legislature.
Which of the statements given above are correct ?

(1) aandb (2) bandec (3) candd (4) aandd

89. WAool HIveT ae) TsIaeT= @jn@q 164 T 3T 2
9.  HEAHATHE HA UHU ST 12 Yan St swEar s a9,
. WW&@WWWWM@W
S,  HAN WA MU Ia7 Tsafafimes e,

gt 39 ;
(1) A, 9,% (2 #, 9,
3) A, %, 3 L (4) 9, %, T

Which of the following are the provisions of Article 164 of the Constitution ?

a. Ministers shall be appointed by the Governor on the advice of the Chief
- Minister.
b. The number of ministers including the Chief Minister shall not be less than 12.

c. The advice tendered by ministers to the Governor shall not be inquired into by

any court.

d. The salaries and allowances of ministers shall be determined by the State
legislature.

Answer Options :

(1) a,b,c (2) a,b,d
&Y (4) b,c,d

(3) a, ¢, d e & WORK F

——— sere@Ta) ST / SPACE FOR ROUGH
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40. et EIES1 N3 T
o a
#., e = 156 i g g
d.  aH — 156 i TeEdTe e SRS
%. Had — 157 jii, TSAYTS 9GSt qTAdl
8. ®TH - 159 iv. T=FgTe ggrEl 9
qgidt I
ol el e |
@)1 i pdiiriy
(2) iv il 1 i
(8) iii iv i ii
() it i iv il
Match the following pairs :
A B
a. Article — 155 i. Appointment of Governor
b. Article — 156 ii. Term of office of Governor
c. Article — 157 iii. Qualifications for the post of Governor
d. Article — 159 ~ jv. Oath for the post of Governor
Answer Options :
a b c d
Gl v, edii, iV

@) iv i i 1
@) i av i i1

@) 1 i iv il

anﬁnaﬁmmﬁaﬁJO%m?ﬁam%aaso%gFﬁan%a;m%%wmﬁwﬁa?ﬁ
aEle, At febdl 28 WA Hele e ad SHed ?
40% (3) 25%

50% are girls. I
tudents are boys ?

p.T.0.

(4) 20%

(1) 8333% (2
f 25% of the Indian

 40% of the students in a class are from India and
students are girls, what percentage of non-Indian s

(1) 3333% (2) 40% )
 HETTAY ST / SPACE FOR ROUGH WORK
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42,

20 C
SR @ Nt gifaet, Den T+ qoifad, Isn U, OoenIf, EsnR A, Ten O f, UsN D
1, N&1 C t sufor ¢ s E i, @t INTRODUCE #1 Wiz %61 gt 2
(1) UCONIDTER (2) UCONITDER
(3) UCONTIDER (4) UCOINTDER

IfR is denoted by N, D is denoted by T, I by U, O by I, E by R, T by O, U by D, N by
C and C by E, then how will the word INTRODUCE be written ?

(1) UCONIDTER (2) UCONITDER
(3) UCONTIDER (4) UCOINTDER

mww,m@mmmmawm
GTATAIHIOT 37 A

HHEE q/F HEITATH T
3 —5 7
5% 10
g 18
9-11 57
11 =93 14
1315 8
T UHT HHTA TH HHR T et smg 2
(1) 95 (2) 10-22 3) 11 4) 12

The foliowing table shows number of working hours and number of employeeg

small scale industrial unit, T

Number of Number of

working hours Employees
3-5 : 7

5-17 o

B o 7-9 %0 18
9-11 57
11-13 14
13-15 8

What are the avérage working hours of an employee ?
1 95 (2) 1022 3) 11 4 12

ol HFTATE! ST / SPACE FOR ROUGH WORK
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g, 75 Ghthe wed Rfezwed AT 9B ARG, d UH TG SEe IR, 9 A ~ J, K, L, M
N, O, P, Q 3T R. L 3 M = 392 313 snifi N =1 S fae=n ¥ smea. K.
TireaT Ul dilen AR, Q & O Ifr P & rE sweien @, O ' K = eidiwe fom=n

T AR, J, O =41 TEIFS 30 98 3.
TireaT GEaaEl S0 g5l 38 ?
1 1 2 J @ 0 4) Q

Nine Cricket fans are watching a match in a stadium seated in a row. They are — J,
K,L, M, N, O, P, Q and R. L is at the right of M and at the third place to the right of
N. K is at one end of the row. Q is seated adjacent to both O and P. O is at third
place to the left of K. J is right next to the left of 0.

Who is seated at the centre of the row ?

T @ J 3) O @ Q

45, @relieteh fagma SiE/re e
- 1(9)2
3(243) 6
5 (854) 9
R g
1) 192 (2)

3(243)6 (3) 5(854)9 (4) 44417

Choose the odd pair/group in the following :
1(9)2
3(243)6
5 (854) 9
4(441) 7

@1 1092 (2) 3(243)6 (8) 5(854)9 (4) 4(441D)7

it o feaw I ?

(1) wfEw (2) wieEaR (3) Fuan (4) TEAR

e taki’s birthday is on Tuesday, 4% July. On what day of the week will be Ayush’s
' birt day in the same year, if Ayush was born on 15 August ?
(2) Tuesday (3) Wednesday (4) Thursday

P.T.O.

et =t | SPACE FOR ROUGH WORK
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e fsriRey 5 : 9 ; 4 <A YHONG 50 U4, o5 4 anfor 10 Serreh AToft meq, SATe TR EHH

< 206 €. Rvrelidict TH A HEAT I
(1) 660 (2) 700 (3) 1720 (4) 740

A bag contains 50 paise, 25 paise and 10 paise coins in the ratio 5 : 9 : 4 amounting
to T 206 . The total number of coins in the bag is

(1) 660 (2) 700 (3) 1720

R15

47.

(4) 1740

48. W@WW@W@@WMWWWWWW
V@ Wi fherSeeade MR SR A iR, dHf-aceniE feendian=n
e ST Tute FeTaidie 677 TSR A Hell, T TR HEHr Hete
ke 99 3o anflen T fammd Haer. @1 syeETeAT fshufTER HeRE ST 405 92
I STHTUI MesAT BTdea STvATE ST 7Ed ST 4-2 3R YT M del qeuaTe]
Il TG, RV Thermsicwan 1. s sifuss geiea stwd.
eier s, Aot s7aeaTe, il g wata ar g w0 Tt fae
(1) e STaedT ATvET=41 YieT= @l 3HcAed1 Ath! I ST vaT=] SEadl S 3794,
(2) IRF SSUAT Achichgd ATHHd=! THTEAAT 3&eled qiifeadten sifaisd ufaamr fea
oA I AR Ed.

(3) 3Hfteh=al HfaaMr=a1 ‘Second Amendment’ THR sqchi=a] S5 STeTUaT=a] ST
Teegur foet 9.

(4) AT HHR Tciedl HIE F=d:he I8 dudaiet adl,

Persons who always carry guns are more likely to be shot than unarmed persons is
the major finding of the study of the shooting in Philadelphia. University of
Pennsylvania researchers studied 677 shootings that happened during the pvri;ni of
two and half years. They considered the age and socioeconomic status of persons
involved in the crime. As per conclusion of this study, armed citizens had 4-5 time-
more chances to get shot and 4:2 times more chances to get killed. Therefore. in
Philadelphia it is safer not to carry any weapon. .

Select the one from given options, if true, that most weakens above argument.
(1) Persons are more likely to carry a weapon who are sure about the risk of

getting shot.
(2) Persons carrying arms are likely to react excessively in a potentially violent
situation. )
(3) Persons’ right to carry guns is protected by the Second Amendment of the US
Constitution.

(4) Some of those shot had a concealed weapon with them.

a,';mmlﬂ’r ST / SPACE FOR ROUGH WORK
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T, 31, fomn, o, | 9 foar a1 ger gefitht ys Sor 9@, o
EALGE] : ’ REIREIEEI:
AT aTEd, T e 9 29 gt anEeE. o

Iear I ST WM 7l

3T G St TTE oo S areiad AL Uh gorll dee aeed @ dff s
S IR, faT el A, qu dt afrean uw fead et S, fer wvard

FHeA 1o ot <fon @ sEEeH areEd ATl
ﬁimﬂammm.ﬂazﬁaﬁmmﬁm#mmﬁmﬁ,m
ST, T fom arete.

WW_@mwaﬁwmﬁ%ﬁmmﬂwﬁﬁaﬁ

(1)
(2)
(3)
(4)

Select the birthday of the pers

(1)
(2)
(3)
4)

Har
TTBaR
FUAR
fargr gt A&l

Among Ronu, Ana, Biba, Chinu, Sana and Dina, everyone can play one of the
musical instruments, tabla, veena and violin but some instruments are played

by two girls.
The birthday of each girl is on a different day of the week and is on a day other

than Sunday.
Ana is not born on Monday and cannot play veena. One girl playing tabla is
born on Friday. Biba plays violin but she is born one day before Ana. Dina is

born on Saturday and she doesn’t play violin or veena.

Chinu plays the instrument that is played by Ronu. Ronu was born on
Thursday, the second day after the birthday of Ana. Ronu plays veena.
on, other than Ronu, who plays the veena.

Monday

Tuesday

Wednesday (. ; ik
2Lh &@ o [/9)

L
Insufficient data@ﬁ' ; ﬂ—ﬂz’_ l T
. % P.T.O.
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50. WIS Jquamrdl aifdegtea 3faa wEEh fiae &
a | ?
- g I
(@yid o (2) >< 3) >K (4) O
Select the logically appropriate option to replace the question mark.
b |7
Answer Options :
N e 2) >< (3) X (4) O
51.

m_P$QmN%¥,QW3TI%;P#QETH?iP,QiﬁﬂTﬁC’vTI%;P*QEn31??P,QEﬁ
garﬁm;m‘A#B}C*D’mﬁm?ﬁﬁwa_ﬁam
(1) D A5< @) ' B Gl 4 (4) 31 foey

If P $ Q means P is the brother of Q; P # Q means P is the mother of Q; P * Q means
P is the daughter of Q; then select the father in the statements ‘A#B $ C * D’

(1) D (B < B 3) C (4) Insufficient Data

FHoeg] HFTAIS! SIFT / SPACE FOR ROUGH WORK

@
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¢
52, WWWWWWWFﬁMﬂ@m
g fesien aesett, & arraren feem feet. e
(1) I foha afeqor (2) ot
(3) 3 Fobam feem (4) e e v

Ami started walking positioning her back towards the Sun. Alfter some timf_e, she
turned left, then turned right and towards the left again. Select the direction in
which she is going now.

(1) North or South @), kst WV%igt

(3) North or West (4) South or

. SO (SareaTa e SreEuT A HHiv
3 M ST e (@) e A e G s ol S,

e A 3R,

et e g s R PR SO e e

(1) Hafad Fews arred gadieal AR FvagEiEEe Jig YHTE @ 99
FOME HGUH FEdR T8 & 30 I 377,

(2) difgs v TeauamErdt Sey Jave <A e g g gy st s@e s

e ‘
(8) I I 9 de5 IS FHAAE Al FH IR ISUAEIS! ARl WS AEFAHA
3

(4) e THTEA IAHIY FATT 3 ITAISN AT 9 o iy S e 4.

Threats posed by people who operate motor vehicles while using mobile phones is
causing much concern. Though it is definitely very dangerous using smartphone
while driving, according to research, generally very frequent use of the phones is
unsafe. Findings of a study indicate that those individuals who use mobile phones

€ to show cognitive failures. They
forget appointments, bump accidently into things i i

€ i , people | thei
addiction towards using mobile phones. RS 0 10 gontiul their

Select the statement that very aptly points out flaws i
] th L
(1) High level mobile phone users ma B s

; . have had short attention s s before they
& dC1d %et addicted to their mobile u's.ib;lg habits, U R s

- Controlling addiction of mobjile Eria Eop
decreasing cognitive failures, 11€ usage may not be a foolproof strategy

(8)  Mobiles are helping people to complete daily tasks comfortably while saving
their energy and time.

(4) All types of mobiles have different applications that can be used for different
purposes. '

ST THNTS! AR | SPACE FOR ROUGH WORK
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54,

C

. g g @ 3EA
asﬂimm@am.mmmﬁwmﬁﬂammm
TSl v oot g s e et €. A
e : 1 gretan Ao AR, T T e o e,
fey tﬁ%ﬁaﬁ?ﬁ.tﬂmﬁmwm.

9 rﬁ%mmﬂﬁﬁﬁmﬁﬁ?@'

ATEA A 3 e e,

(1) g @ Fq
(3) Iy (4) feTdeh! THE TRl

26

On an island Tela-Dula, the inhabitants always answer any question with two
sentences — one of which is always true and other is always false. Dinu, while
touring this island, meets three inhabitants, Golu, Nilu and Pelu. They were there at
one of the crossings to resolve a dispute over ownership of plants. One of them bribed
to get certification of this claim. They requested Dinu. to listen to their problem.
“Who is the owner of these trees ?” Dinu asked and they answered as follows :

Golu : T own the plants. Peluhdjd bribe the concerned person,
Nilu: I did‘bribe the concerned person. I own the plants.

Pelu : I own the plants. I did not bribe.

Select the person who bribed.

(1) Golu (2) Nilu

(3). Pelu (4)  None of the three

55.

! . . . —\_
366@méwmmmmma@mwmmm

(1) | 732 e (2) 990 (3) 1098 4) 1305

The total number of digits used in numbering the pages of a book having 366 pages

1S

(1) 732 (2) 990 (3) 1098 (4) 1305

——— 8 oI / SPACE FOR ROUGH WORK R
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56. SR T ST SR S T o e AR e facehl wwen wied.
YDC

v
XARV — @ = @ —» AXRVWV

i J
©) YDCC
1
1
{
XXARV
BLH - @ - ?
_‘T\‘J‘i‘\'ﬂ!ﬁ:
(1I) BLH (2) BBLH (3) BLHH (4) LBH

Study the flowchart and construct meanings of all commands and apply them to the
given problem.

YDC
\ !
XARV‘-* @ - @ - AXRVV
1 i
® YDCC
. {
@
1
XXARV
BLH - 3 - ?
Answer Options :
(1) BLH (2 BBLH (3) BLHH (4) LBH

el ﬁlqlﬂ'lél ST / SPACE FOR ROUGH WORK P.T.O.

Scanned with CamScanner



g

R15

57.

c
e T e 3 e T AR, R ST deren fog Ed 9w e i 9
T TE. WIS qvAT ol S s, A1 ShEe e Som=g Sr g, g S
yreTTiet grvaTe @il Fuit 9ged 14 @ SEau e Hieed AT

28

4 4 -
=3 y\ -
i N\ \ | \
# 3 A 9 - e
N £ S =0 :
\ J \ \,\

A \‘“’ Bl gt Gt O, S

- (3) (@)

(1) (2)
The accompanying image shows the cross-section of a container that is used to water

plants. The container is filled with water and is suspended above a houseplant.

There is a small hole at the bottom of the container, through which the water

trickles down at a constant rate. Four children were observing this process and drew
a graph to show how the depth of water in the container changes with time, from

when it is completely full of water.
Select the graph that best represents the given information.

Answer Options :
o4 oA
e e e '\“\ e “
. A " \\‘ﬁ ol \
1 t | \ t ' t L
h hJ i o) h \ 1
S Time | R TR ’ e T " e
(1) (2) (3) (4)

Zoed] HIETTS! SIFT / SPACE FOR ROUGH WORK
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ﬁazwmﬁﬁawmwmm”w'mw LiEaE R IR —

e T e i . fod et e Y SO SR S 6 e

W_WWWWHWWWW_ ‘
e FTEYd FEe U e Fae

St e A SR B :
Wmﬁﬁmﬁmmﬁmm‘_wmm
(1) R ITeel ol e 3ﬁmmﬁmmmﬁm g

58.

:wﬁuﬁawmaam@m,maﬂmﬁww\am
" ;ﬂjﬁaﬁ@ﬁmwmé&mm@wwawﬁ%ﬂm

S Fe grEe W I fHeEErrE e qt qrel
fresauarE! T AR, SAre Y
& 29 Hied.

(3)

(4)

r friend that if she wants to win the State level vocal music

will need to learn to sing and practice every day. She told her
she means that she will be

Deepa was telling he

competition, then she
that she is resolved to win this competition. Thus,

learning to sing and practicing hard regularly from now.

Select the one that most resembles the reasoning used in the above argument.

(1) If Shalu wants to write humorous stories then she would have to develop skills
of Writing such stories. She has participated in workshops conducted by experts
to experience how to write such stories and now she will soon be writing her

first story.

(2) Madhu Wan!:ed to spe.:nd more time on his research essay, as he knows that only
tpen would it be of high quality. His teacher told him that he would not get the
time he ngeded, so the essay would not be of high quality.

(3) Iff“ one w.ants to earn hlgh remuneration nowadays, he/she needs to acquire lot
{.ﬁ experience of'workmg 1n various countries. Since Dany wanted to earn very
gh remuneration, naturally he is going to leave this country for some years.

4) If al{tl}()_ntles can _bring together leaders of two states for discussion, there is a
possibility for designing a solution for minimising pollutions of different kinds.
Preventing pollution is something both the states want, so they are going to
organise a discussion with the concerned persons of the State soon.

oeq] HTHTAETS! ST / SPACE FOR ROUGH WORK P
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59. W UH Fikfaw WG, BOMBAY & MYMYMY s@ ffear, @@= HHIAH
TAMILNADU &1 &9 foge ?
(1) TIATIATIA
(2) MNUMNUMNU

(3) IATIATIAT

(4) ALDALDALD

In a certain code, BOMBAY is written as MYMYMY, how will TAMILNADU be
written in that code ?

(1) TIATIATIA

(2) MNUMNUMNU

(3) IATIATIAT

(4) ALDALDALD

60.  SHITTCT SebETSIe A TR Fa ATE 31 AT T SR A HHA U 3
6, foea 31 5 afor g 37 2 AR, S g 3 fm= siETeA A R Fg
forer= 9 e sfspren wed gHm fg 390t @ AR TSR .
feciean wafqa Sfia=n waefasa faer.

(1) 645320
(2) 635427
(3) 635428
(4) 635429

For Internet banking Jeet’s six digit passcode is composed using six different digits.
The first digit of the passcode is 6, third digit is 5 and the fifth digit is 2. A correct
c?lculation appears if a sign of multiplication is placed between the second and third
digits and the sign of equality is placed between the third and fourth digits
Select Jeet’s passcode from given options, ] |

(1) 645320
(2) 635427
(3) 635428
(4) 635429

Fweq] HIHINIS! STFT / SPACE FOR ROUGH WORK R
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gl. W@reite gifehtudier x <ft fehAa et

Yx 100

256 X
(1) 16 (2 4 (3) 64 (4) 256
Find the value of x in the following equation :

3x 100

256 X
1) 16 (2 4 (3) 64 (4) 256

N £ 3 T} 3R, A o Heidter s e e 2
62. Wmmﬁq@ﬁgﬁﬁwllﬁms
(1) 20 2 13 (3) 6 4) 15

If 1rd ¢ o two digit number is larger by 8 to its %th, then what is the sum of digits
3

in that number ?
(1) 20 (2) 13 (3) 6 (4) 15
_— %, % % % sarfer g_ %a@ﬁﬁmwﬁaﬁé,mqﬁ%ﬂaﬁaﬂwﬁrﬁﬁaﬁa
Tt 2
2 5 9 29
£ - 3) = &) - =
If we arrange the fractions %, %—, %, —;— and g in increasing order,»then what is the
sum of first and last fractions ?
2 g 5 9 29
i = Dl s L2,
()3 ()13 (3) 3 (4) 94
64. UH ghHERA 15 W 7 2,340 o fFeamat T 60 A Tl | @ YA oAl @ial fHHd
fepeft 2 * M
(1) %160 (2) ¥ 240 (3) ¥ 180 (4) ¥ 230
A shopkeeper sold 15 shirts for ¥ 2,340, he suffered a loss of ¥ 60. What is the cost
price of each shirt ?
(1) ¥ 160 (2) T 240 (3) 180 4) T 230
65. 4 3MSA a 2SI R T 57,200 3R, T 6 IS g 3 wprSs febwd bl 3T 2
(1) % 85,800 (2) ¥ 75,800 (3) ¥ 95,800 (4) T 95,900
trhe cost of 4 rings and 2 bangles is ¥ 57,200, then the cost of 6 rings and 3 bangles
is
(1) % 85,800 (2) ¥ 75,800 (3) T 95,800 4) T 95,900
roea SIS I | SPACE FOR ROUGH WORK p.T.0.
l
8
@r ‘
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66. wﬁ@wm%mw%aﬁamsmaﬁ,mﬁrmm?

(1) 3200 (2) 2300 (3) 5300 (4) 4500
The difference between 31% of a number and 13% of the same number is 576, then

) the number is
(1) 3200 (2) 2300 (3) 5300 (4) 4500

67. @Il G&dE ORI & |

[lg)—3/4
81

81 3 8 4
s == 2) 0 = 3) — 4) —
16 Z 2 & 27 (! 9
Find the multiplicative inverse of the following.
[ l‘i ]—3 /4
81
81 3 8 4
1) — 2) — 3) — 4) —=
(1) 16 (2) 2 (3) 57 (4) 9

68. o uwuin A.anfy. 8 @ AELR. 144 TR, THH Th FEA 16 3TEITE GEL FEA1 VR ?
(1) 108 (2) 96 @3 72 (4) 36
The Greatest Common Divisor of two numbers is 8 while their Least Common
Multiple is 144. Find the other number if one number is 16.
(1) 108 (2). 96 3) 172 (4) 36

69, R 125% = 625 3@, T a = fEud .

4 3 2 3
S e % — 7 E
(1) 3 (2) 1 (3) 3 (4) 5
If 1252 = 625, then find the value of a.
4 3 2 3
— = 8L = 4) =
e 3 y 4 3 ) 2
70.  0-77777... 1 T g A % T fore.
14 | 77 7 7
S 2)- == @) = B)E =l
g 9 & 100 9 &) 10
Write following recurring decimal fraction into P form
@I, g
: 14 77 i
s e o g 3 7
9 @ 100 Yig W e

EHEeq] HETATS! SR | SPACE FOR ROUGH WORK
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71.  FH HEmE w11 I 9 A9, 693 IR, s wh wEw 77 s T gl HEm e

(1) 63 (2) 93 (3) 88 (4) 99

The GCD of two numbers is 11 and LCM is 693. If one number is 77, then find the

other

(1) 63 (2) 93 (3) 88 (4) 99
72. foud @

/49
\/1+\/41—\/17 ++/64
1 7 @ 7 3) 247 4) 14
Find the value of
J49
J1+\l41-\/17 +/64

w 7 @ 7 8) 247 4) 14
78. W a7 foem smd=n quren R 5 ANl IR, w@w Areffea FA ¥ 58

IR, T T e 2 . =

(1) 12 (2) 30 (3) 16 (4) 21

If the age of Neeta is 5 years less than half of her mother’ S age, sum of the ages of

Neeta and her mother is 58 years. Find the age of Neeta.

1) 12 (2) 30 (3) 16 (4) 21
74. aa%a‘nmlmia’t 1 T 400 3118 wzs%wwﬁw T = fhrg ufy

e frdt 21

(1. 34 ' (2) <48 3) <32 (4) T 36

The cost of 10 kg sugar is  400. If on that, 25% sugar is free, then what will be the

cost of sugar per kg ?

k- 1) T34 (2) T 48 3) ¥ 32 (4) ¥ 36
- 75. ;ﬂ%ﬁ@m?mmwﬁm aﬁm%mﬁw

() -T825250 (o)

TR ST 12-5% TP
(1) = 8,25950 (2)

(4) ¥ 8,40,250
Sanjay Purchased g bungalow for = 7-5 lakhs. At what price, should he sell it to earn
a profit of 12-5% 2

T 8,43,750 (3) ¥ 8,37,500

843,750 (3) ¥8,37500 (4) < 840,250

el HIETATS! ST / SPACE FOR ROUGH WORK
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76. 1999 Feht fthea A A Fe (‘@' -fohw gl sraeoma diect. <™ @refiaishl S
YR S 919 SuITd 3T 2
(1) €18 wor (2) THS. 37ege HeA™
(3) faspm wmmmg (4) Yomury HgIEl
NASA’s X’-ray telescope launched in 1999 is named after which of the following
Indian Scientists ?
- (D C.V.Raman (2) A.P.J. Abdul Kalam
(3) Vikram Sarabhai (4) Subrahmanyam Chandrasekhar
717. e ush feftdfietian S qunesd stEeien ywonEn sreET .
(1) Een e (2) aEd GITAITE
(3) 3IMfEehel WE - (4) Aol EerTE
studies radiation with wavelengths greater than approximately one
millimetre. W
(1) Radio astronomy (2) Infrared astronomy
(3) Optical astronomy (4) Ultraviolet astronomy
78. % 93 A9 TG @iet Hisr.
(1) @HR (2) @I (3) @reATH (4) wTESRIER
The depth of the sea can be measured using techniques.
(1) Sonar (2) Sonography (3) Holography  (4) Microscopy
79. WS SeEl Tshl WIEAHIGH GE-l HIHTE Sa¥ i, degT WrelieTdeh! SERTIIT=AT SHIvfe Ui
(1) o (2) dTerTs (3) maH (4) SHEwal
When light travels from one medium to another medium, which of the following
property of light does not change ? ‘
(1) Velocity - (2) Wavelength (3) Amplitude (4) Frequency
80, RSV FHicH i T L S 7 N Fe-Yet Wi SHGIH S FHI Hen 3.
(1) 20+1 (2) 2[21+1] (3) 20+1] 4) 1+1

The maximum number of electrons in any subshell with orbital quantum number ¢’
s

(1) 20+1 (2) 2[21+1] (3) 2[+1] 4) 1+1

ZoeT STHTATS! S | SPACE FOR ROUGH WORK
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81. WWW@Hﬁ:ﬁ@E 1 AT 37T,

(1) MnO, (2) erge (3) Cd (4) Zn

In drv cell battery, anode of the cell is made up of .

(1) I’YMn02 (2) Graphite 3) Cd 4)"" Zn

378 gyifas .

82. SIvFF@EIFSD .

O RO 2)  (¥ier)3 foar m®

(3) 2 (1) T (2) (4) afAth TR ATE

The SI unit of volume is expressedas .

(1) Litre (L) (2) (Meter)3 or m?

(3) Both (1) and (2) (4) None of the above
83. el = v G a4 7

(1) T®rEe

(2) uTh=

(3) PoitH

(4) =T T

Which of the following is not an allotrope of carbon ?
(1) Graphite

(2) Graphene
(3) Fullerene
(4) None

momentum of an electron.”
(1) Schridinger

A9} deBroglie  (4) Max Planck
A L e —
Tt srrereiva: 2) frefie smemmmERe
& gas i (4) Toefter smeerarre
(1) Methy] 'iOVZ:rsbzespt(;nSIble for the ‘Bhopal Gas Disaster’.
i n ; ,
(3)  Methyl isochlorid: - (2) Methyl isocyanide

(4) Methyl isocyanate
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86. TA.UH.UE.UH.-5 & Tz wumefl frdia e ? ,
A, AN A& . yoft gdEu
. Sl gae 3. JUaE Haeu
. feetoan waETieh A ity e
(1) %ad A (2) ®Fdq (3) «amfur= (4) %o €
NFHS-5 deals with :
a. health survey b.  animal survey
c. plant survey ' d. nuclear weapon survey
Fill in the blank by choosing an appropriate option given above.
(1) Onlya (2) Onlyb (3) bandc (4) Onlyd
87. mmmmmmamﬁﬁmw 3Hd ?
- (1) smeda (2) SRS TR
(8) 9Hiefichizm (4) =&
In which fungus is the zinc element necessary for normal growth and spore
formation ? Rl
(1) Azotobacter (2) Aspergillus niger
(3) Penicillium (4) Mucor :
88.  Wefieish! wHivmar ﬁﬂmﬁﬂﬁaﬁ%ﬂ%m T HEE fe) W STat ?
(1) 3REef=n 3wsn (vdawm) (2) wﬁ%
(3) IS fem ) qd EreE
Which of the following area is considered a hotspot of biodiversity in India ?
(1) Aravalli hills (2) Western ghats
(3) Indo-Gangetic plain (4) Eastern ghats
89. ¥ fawIvEn yaR @refierte Fom s TEET B 2
(1) ufeq 3ot (2) g (3) 3FIhcH (4) <ERmY
Dengue virus spreads through bite of which of the following mosquitoes ?
(1) Aedes aegypti (2) Culex (3) Anopheles (4) Plebotomus
90.

W@W/wmmmmmﬁﬁﬁgmw
3 ?

(1) e ¢ | (2) IFfeid @

(3) 3id=re S (4) et oy

During vaccination, which of the followmg antibody regulat

ol il y regulates efficacy of secondary
(1) Immunoglobulin ‘F’ (2) Immunoglobulin ‘A’

(3) Immunoglobulin ‘G’

(4) Immunoglobulin M’
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91. STt arfaer’, S = qofy G i e fafay s
' i > EICIE]
TDSTAT ST QU= AT geg et o - 3\;”“@@‘ U= @ 11 awty o9
(1) 15 (2) 13 (3) AT

(4) .17

The tigress known with various names such as ‘Collarwali Baghin’, ‘Pench ki Rany
‘Super Mom’ who gave birth to 29 cubs in 11 years died at the age of ant’,

1) 15 @) ‘13 3) 27 (4) 17

92. 1857 dreht §ws femdierh worw sefl, @ WRATdE g&t 3o Tsardiel ufeet foemde s

R & T thia faamdis g,
(1) 1950 (2) 1948 (3) 1947 (4) 1960
Bombay University founded in 1857 was the second University in India and the first
University in the State. It was the only University till in the State.
(1) 1950 (2) 1948 (3) 1947 (4) 1960

93. WRATHIS SV T5T S dh Tehed ITNUM et TS 3778 ?
(1) deon (2) WERT (3) H (4) WA

Which Indian State is the first to set up the ‘Gene Bank’ project ?
(1) Telangana (2) Maharashtra (3) Kerala (4) Karnataka

94. I HE/A ASE
3. wqTeh ST A 2021 WX TS Wigel STATT=AT HeAeye) fRyeh! oA e

¥, e TR e A Ahrwael 2021 We e Hoar ST,

gt I
(1) ad A (2) %d &
(3) A daA (4) oo THa ATE

Select the correct statements : ‘
Rupali Chakankar was appointed Chairman of State Women Comm1S

sion 11

a.
2021. £
b. Justice Vidyasagar Kanade was appointed as Lokayukta in 2021.
Answer Options ey |
iy db (4) None of the above
(3) Bothaan . =76
awuﬁ preTard S | SPACE FOR ROUGH WORK
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95. wreicid HFrg SE ASET
et (Tarems &)
A 2015-16 % <f. st i
9. 2016-17 L guTy HE
% 2017-18 - Tgd o
It I
1 A (2) =
3) (4) Sl THel TRl
Select the incorrect pair from the following :
Year Outstanding Parliamentarian Honoured
Person (Vidhan Sabha)
a. 2015-16 - Dr. Anil Bonde
b. 2016 -17 - Subhash Sabne
c. 2017-18 - Rahul Kul
Answer Options :
2 ¥EL) e (2) b
@) ¢ (4) None of the above

96. WETdeh! VAT TRYTCTheT Ta=s Fa&01 a9 2021 =1 YW HuTeH U e ?

(1) feer (2) EoTERST (3) HHas (4) 37le
Which of the following Nagar Palika bagged the 15! prize in the Cleanliness Su rvey,
2021 ?

(1) Vita (2) Lonavala (3) Saswad (4) Akola

97. Tl v T T e, @ AT AT T GO, 2022 Wl g g
qehIae ?

(1) wewrsg (2) TR (3) I weW (4) snfeem

Whj(.:h of the fol.lowing States won the first prize in National Micro, Small and
Medium Enterpriseg Awards, 2022 ? - ,

(1) Maharashtra () Gujarat (3) Uttar Pradesh (4) Odisha
groed] SIS STRT / SPACE FOR ROUGH WORK
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98. ONEI owr ufeg 2022 A R A
¥, Hiew=a TERHIES 9 i feE faam s

9. Hict argeher=a fafay Sefren sorrd a fawm amar dame o,
Tt 39t

(1) e A

(2) %ad 9§
(3) A9« A (4) e uHel A

The aim of the International Conference ‘Devayatanam’ 2022 is/are
a. To deliberate upon philosophical and religious aspects of temples.

b. To initiate dialogue on evolution and development of the various styles of
temple architecture.

Answer Options :
(1) Onlya
(3) Bothaandb

99, Wieilciishl ANT HI /A ST :
. Hawr A e afe 1w B afvree sword fiar drfire € afeeh ufgen s

R15

(2) Onlyb
(4) None of the above

d. A A Fefren ata o B afire steomd e mdere € afeeft wida s
Tt I

(1) ad A (2) ad o

(3) HAA T

(4) oYl uwdl A

Select the correct statements :

a. Gita Gopinath became the first woman to feature on the “Wall of Fame’ of the
International Monetary Fund.
b.  Gita Gopinath became the first Indian to feature on the ‘Wall of Fame’ of the
- International Monetary Fund.
Answer Options :
(1) Onlya (2) Onlyb
(3) Bothaandb

(4) None of the above
mﬁwwm-ﬁmaﬁnﬁqmwmwmﬁw
SIS Wit @ @t 7787 2
(1) 4t T et et merht At
@) Fremg sheeam 1 agui 2,

) 15 ez faom w2 s e

(4) =1 95 1750 me) e,
The Hablhgand railway station has been renamed Rani Kamlapati — The Last Hindu
@ b hopal. Which of the following is not

‘ true about her ?
- was the daughter of Raja Kirpal Sing
(2) She was an expert horse rider and an archer.
(3) Shew, Nizam Shah,

(4) She died in 1750,

100.

‘ : T.0.
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